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Vib-Lesson 16

Use the RDW process to solve. Write your answer as a decimal.

1. Soo lJin needs 4 dollars 15 cents to buy a school lunch. At the bottom of her backpack, she finds 2 dollar
bills, 5 guarters, and 4 pennies. How much more money does Soo Jin need to buy a sehaol lunch?

$4f5 M = 4 doifprs 15 cents — 3 dotlgrs 29 cents

= 1 doffar 15 cents — 29 cents

T

v R 100 cents 15 cents
$3.29 :
= 84 cents
. = 50.86
Another way to solve 115 cents — 29 cents is to
add 1 to each number and then solve 116 — 30. 500 Jin needs $6.86 more to buy o schoo! lunch.

11 tens 6 ones — 3 tens = 8 tens 6 ones.

2. Kelly has 2 quarters and 3 dimes. Jack has 5 dollars, 4 dimes, and 7 pennies. Emma has 3 dollars,
1 quarter, and 1 dime. They want to put their money together to buy a pizza that costs $11.00. Do they
have enough? If not, hew much more do they need?

$'1j/'&mj | determine how much money \\
L : : Kelly, lack, and Fmma each have. !
2804 $5.47 $3.35 add to find out how much money
R v R -they.havg together, Then, |
7 M subtract that amount from the
ost of the pizza to find out h
T = 80 cents + 5 dollars 47 cents + 3 doliors 35 cents cost of the pizza to find out how

much more meney they need, M, /

= 8 dollgrs 162 cenis

1 doflor 62 cents

= 3 dollars 62 cents M = 11 dollars — 9 dollors 62 cents

Kelly, Jock, and Emmao hove $9. 62, TN _
10 dolfors 100 cents

= T doligr 38 cents

They do not hove enough monsy to buy the pizza.
They need 51, 38 more.

Eumm Lesson-16: Express money amounts given in various forms as decimal numbers. 21

MATH

©2015 Great Minds, gureka-math.org
G4-M1-HWH-1.3.0-07.2015




3. Apint of ice cream costs $2.49. A box of ice cream cup sundaes costs twice as.much as the pint of ice
cream. Brandon buys a pint of ice cream and a box of ice cream cup sundaes. How much money does he

spend?
2 4 9 renps
Pint $2.49 l X 3
J 7 4 7 cents
Box
Brandon spends $7.47. [ see that there are 3 units of $2.49. |

rename $2.49 as 249 cents and then multiply
by 3. 1 write my answer in decimal form.

4. Katrina has 3 dollars 28 cents. Gail has 7 doifars 52 cents. How much money does Gail need to give
Katrina so that each of them has. the same amount of money?

$3.28
- h ™y

Katring M _ ' ' i '
L The tape diagram helps me to solve.
Gaif | 5 5 ' N i see that if Gail gives Katrina half of

' ' : the difference, they will have the
e same amount. [ sithtract to find the

$7.52 difference, and then | divide by 2.

7 doiflars 52 cents — 3 doilars 28 cents = 4 dollars 24 cents

= 4724 cents
2 1 2
214 2 4 212 conts = §2. 12
- 4
o 2 M=5212
- 2
¢ 4
- 4
0

Guil needs to give Kotring $2. 12 so that each of them hos the syme omount of money.

Lesson 16: Express money amounts given it various forms as decima! nurnbers.
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